
1. 4xy−2x−2y+1 을인수분해하면 (ax + b) (cy + d)일때, a+b+c+d
의 값을 구하면?

① 0 ② 2 ③ 3 ④ 4 ⑤ 6

4xy − 2x − 2y + 1 = 2x(2y − 1) − (2y − 1)
= (2x − 1)(2y − 1)

∴ a + b + c + d = 2 − 1 + 2 − 1 = 2

해설



2. 이차방정식 x2 +5x− 9 = 0 을 (x+ P)2 = Q 의 꼴로 고칠 때, P+2Q
의 값을 구하면?

① −33 ② −12 ③ −4 ④ 0 ⑤ 33

x2 + 5x − 9 = 0Å
x +

5

2

ã2
=

61

4

∴ P =
5

2
, Q =

61

4

∴ P + 2Q =
5

2
+

61

2
= 33

해설



3. 0 < x < 1, − 2 < y < −1 일 때, 다음 식을 간단히 하면?

√
(xy)2 +

√
(x + y)2 − 4xy −

√
(x − y)2 + 4xy

① −xy ② 2x − xy ③ 2x + xy

④ 2y − xy ⑤ x − xy

√
(x + y)2 − 4xy =

√
x2 − 2xy + y2

=
√
(x − y)2√

(x − y)2 + 4xy =
√

x2 + 2xy + y2

=
√
(x + y)2이므로

(준식) = |xy|+ |x − y| − |x + y|
= −xy + x − y + x + y
= 2x − xy

해설



4. x = 3 +
√
8 , y = 3 −

√
8 일 때, (xn + yn)2 − (xn − yn)2 의 값은?(단,

n 은 양의 정수)

① 1 ② 2 ③ 3 ④ 4 ⑤ 5

(xn + yn)2 − (xn − yn)2

= (xn + yn + xn − yn)(xn + yn − xn + yn)

= 2xn × 2yn = 4(xy)n

xy = (3 +
√
8)(3 −

√
8) = 1

∴ 4(xy)n = 4

해설


